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Please check whether you have got the right questlon paper
N.B: 1. All questions are compulsory. - SN
2. Figures to the right indicate full marks. : =
3. Draw neat and clear figures wherever applicable.
Q.1 Attempt any two of the following. S e Sl . S 3 _.‘:-',_1'5'..
a. Explain the meaning and scope of public fmance 3 e B A
b. Describe Dalton’s version of Principle of Max1mum Secnaj Advantag 0
c. What is functional finance? Discuss the features of functlcmal fir nance._-. 3
Q.2 Attemptany two of the following. - - I - 6

a. Discuss the various sources of revenue of- the government,
b. Examine the merits and demerits of indirect taxes.
¢. Explain the factors affecting the shifting of a tax.

Q.3 Attempt any two of the foIlowmg :1'\55 S 15

a. Discuss the various causes of increase in pubhc expendlture
. b. Describe the various types. of pubhc debt. . ' oy

c. Explain the meanmg and key issuesin ﬁscal federallsm LR

Q4 Attemptany two of the followmg S SN RS 15
a. Explain the components of unorgamzed sector of Indlan money market.
b. Discuss the money market reforms mtroduced in Indla since 1991,
c. Whatis cathaI market? Explam the structure of lndlan capltal market.

Q.5 A. State WIth reasons whether the followmg statements are true or false. (any four) 08

The basic prmcnple of both public and prlvate finance is the same.
:_'Antl—mﬂatlonary taxation. reduces savings.
lncxdence of tax refers to ‘the fi nal meney burden of atax.
'Qapltai !evy is advocated to repay the debt raised during a war.
Reven e enditures 1mpr0ve the productive capacity of the economy.
In Indla he bill market 1s not yet fully developed
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Q.P. Code :19483

. The test of maximum social advantage is ---------

a) Economic stability

b) Improvement in production
¢) Improvement in distribution
d) All of these

. mmmmmmmee- does not form the basis of sound finance.

a) Say's law

b) Assumption of full employment
¢) Ricardian Equivalence Theorem
d) Lerner’s Fundamental Rules

. The demerit of direct taxes is ------- Smsdmr,

a) Certain

c) Arbitrary
d) Equitable

a) Income tax _
b) Corporation tax - = -
c¢) Pricesofgoods =
d) Wealth tax :

. In case of backward shlftmg, the burden of tax is shlfted from ------------ .
a) Producersto supphers of factors of productlon

b) Prod‘ucers to consumers

c) Consumers to producers

d] All of these Mg
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10.

11.

12,

Q.P. Code :19483

As per FRBM Act, 2003 the central government should reduce revenue deficit to Zere <

a) 2003-04
b) 2007-08
) 2008-09
d) 2010-11

Certificates of Deposits are issued by --------- :
a) Regional Rural Banks

b) Local Area Banks

c) Scheduled Commercial Banks

d) All of these

---------- is not the role of capital market.
a) Mobilisation of savings

b) Channelisation of funds for lnvestment
¢) Industrial development :

d) Development of commerc1al bankmg

Secondary market reforms of Indlan capltal market do not mcIude ------------- i
a) Screen based trading - :

b) Liquidity Ad]ustment Facﬂlty

c¢) Depository system

d) Rolling settlement
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